
30

80

110

20

2-h14

40
39

.5

10
5

h40

30 60

qt

y

u

w

e

r

(8
5.

4)

(7
0.

8)

(1
3°

)

5°

(1
4.

6)

14

50 15

40

80

10
40

85

10
0

(S
ta

nd
ar

d 
po

si
tio

n
fo

r 
op

er
at

io
n)

 

(P
os

iti
on

 fo
r s

et
tin

g)
 

t Load at assembly position  21.6N

t Load at reference position in operation  45.1N

Feed  

20

80
.2

h40

39
.5

52
.6

11
7.

6

Material 
edge

ei!2

w

qi

r

t!2 y!3

u

o

!1

!0

R67

210209

カ
ム
用
ス
ラ
イ
ド
部
品

カ
ム
用
ス
ラ
イ
ド
部
品

カ
ム
用
ス
ラ
イ
ド
部
品

カ
ム
用
ス
ラ
イ
ド
部
品

B
la

n
k

in
g

 D
ie

C
o

m
p

o
n

e
n

ts

カ
ム
用
ス
ラ
イ
ド
部
品

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. 

Blanking Die Components

Guide Roller Set

GRASR
GRASL

GRBS

GRBS

GRASRCatalog No.

GRASR
GRBS

This illustration shows R Type GRASR.

No. Description Qty Material and Remark

1 Roller Set Pin 1 Steel

2 Guide Roller 1 Steel

3 Arm Set Pin 1 Steel

4 Spring 1 SWP-B

5 Roller Arm 1 Steel

6 Roller Base 1 Steel

7 Needle Bearing 1 NAG4901 by IKO

8 Hexagon Socket Head Bolt 2 M8x20

9 Hexagon Nut 2 M10

10 Washer 1 M10

11 Washer 2 M16

12 Dowel 2 h8x30

13 Dowel Female Thread 1 h8x30

GRASR/GRASL

No. Description Qty Material and Remark

1 Roller Set Pin 1 Steel

2 Guide Roller 1 Steel

3 Roller Base 1 Steel

4 Needle Bearing 1 NAG4901 by IKO

5 Hexagon Socket Head Bolt 1 M8x20

6 Hexagon Nut 2 M10

7 Washer 1 M10

GRBS




